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Answer FOUR queslions only selectinS of 19"{ TWO fr"t eoch tecth

SECTIOII - A

l. (a) Simplify each ofthe following:
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(r"!)" ' g"

Factrorize the iailowing exptessions:

. i cs - nrzy i 3x1? - yt ,

i\. 6Ez - 17ay + 3g2 ,

iii. (3r? I 2r')3 - '.r,3.

Use 1he deinition of logarilhm to prove thai,

i. Iog, mn = log, rn I log, n,

It. Lo&-=lo*m-logrri,
7l -'

iii. Iog, rn" = ll logl m.

Given thatr log3 = 0-4771 arl.d log4 : 0.6021.

Find lcg 11, log 1 and loq '6.' -+

11,

(b)
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(b) Evaluate the folldwing rhy uoing the propeitiec

' "(*) '*(F)-''*(;),
of loga.rithm:

l
ii. ? lorg 30 + 4log2 - i log 12.

:1. (a) Find the liriii va.lue ofihe following:

Diilereniiate the following {unciione
/ -t ,1\

r. U=lnl I' t-2 1rr

Il. y = e-tsrnAc + cos3c),

t\t. !! = e'tra'i.c.

Inlegrate the following:
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SECTIOTI . E

4. (o). Biefly exploin sqmple spoce, on evenl ond ind

probobility wilh suitoble exomples, if possible.

(b) A bog conioins l 0 white ond 6 block b'olls Two bolls ore drown o1

rondom one ofter the other wilhout replocemenl. Find the probobility thot

bolh ihe bolls ore drown is block.

(c) An urn conloins l2 whiie ond 20 block bolls. A second urn conioins I 6

while ond 24 block bolls. One boll drown from eoch of ihe urns Whoi is

the probobiliiy of the bclls drown are boih while.

5. iol Summorize your knowledge oboui the following in relotion to
biosiotistics with exomples, if necessory

(i) NJll hypoihesis
(ii) Normol distribution

(b) Compore the following

{o)Simple bor diogrom ond component bor diogrom

(b)Frequency polygon cnd frequency curve

6. (o) Chemicol compositions of four plonl species ore given below Drow o

percenioge

bor diogrom ond Pie diogrom.

Ploni
species

Woier
iol

Corbohydrote
{q)

Protein
{q)

Fol
Io)

Tolol
weiqhl fq)

Cosior 3 2 3 17 25

Peo 8 6 24 2 40

Wheot 4 14 5 2 25

Soy beon 4 6 24 6 4A



{b) The income of 70 persons is distribuled os follows. Drow lhe diogro

lhe doto ond hence find ihe modol volue

lncome 0- l0 10 -20 20-30 30-40 40-50
Persons t0 t5 zc 12 8


